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1:‘('1’.:«//)5-»u:U’/")ée)&b&d'fﬁ{‘_é(dlﬁ_u,’éb,l)ﬂj C B A :«Uf...’ﬁ,'(wédl)’/{ :u’i
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Note: Four possible answers A, B, C and D to each question are given. The choice which you think

is correct, ﬁll.that circle in front of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circels will result in zero mark in that question.

p—

B RV s
A

who did give economics the status of positive science? YL:L‘/,?AB’;,?"IH‘I.;QV -1

Adam Smith #7741 (D) Keynes 4 (C) Robbins j#. (B)  Marshall b ()
' e trslr Lot 2

Slope of marginal utility curve is: \

horizontal 31 (D) vertical (»»¥ (C) negative & ®) - positive = (A)
Demand for necessities of life is: ::;.8)1.,&&?6&);&::}' 3

more elastic ;Lsg wli (B) ‘ less elastic ;ug [ (A)

inelastic /Lsg /_' D) - perfectly elastic Jb.g J; ©)

. dden g B 4

The goods on which the law of demand does not apply are called:

goods and services =lsnls (B) services =le (A)
capital goods AP (D) giffin goods I (C)

is not factor of production.

capital ~b/(D) = output /iy (C) labour =* (B) land ¢%7  (A)
Number of firm/s under monopoly is: ’ :q.:MJU:’)/()Jﬁdxbulﬂ -6

4 (D) 30 . 2 B) 1 (A)

Firm's equilibrium is at that point where: ' :ul‘z:;.t'n{ﬁd lu;'l?b’() -7
~ MC=MR 4 =S @) MC = AR Ukt = S (A)
MC=AC iserbst = e ¥ (D) MC=AVC Gt = S (C)

| e SRiLle Ly 8
rain UL (A)

are called transfer payments. :.‘:_t-l!kf‘;'?u[:?f,;dﬁa, -
Salaries _ u_ﬂi“. B) ' wages ufil (A)
prices ;ff (©)

ted: Bl eAe IS 10
productive expenses atglﬁldﬂ,l& (A)

Which one is not called land|:
Mangla Dam (256 (D) forests = £z (C) mountain Jig - (B)

LS ———

Uncmploymcnt allowances (f 8K (D)
Expenses on wear and tear of machinery are ca

non productive cxpcnscsolg'/'" Mg (B)

depreciation expenses =bl? 'u(”’/; (D) wages &b+ (C)
of money is: :q..t'nJl“Tb’uglﬂJ,lt‘Ju;g 11

Relationship between level of prices and quantity

all of these fUx (D) indirect £-17¢ (O) negative ¢~ (B) positive =2 (A)
\h -
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- c 2w ]|
The purchasing power of money is called: 'ﬁ'-t"!tf(’g'.ffu’&J

exchange of money  JlaJ7 (B) valueof money  sjisW (A &
credit money  Li$A% (D) " quantity of money  Ji/lé (C).
The phases of trade cycle are: ' Ll o -13
4 (D) 3 © 2 (B) i 5 (A
Balance of paymen.t compi-iscs of: _ ' :{-d"‘)u‘;‘g""?”; -14
invisible goods pl_/‘!(j 2Z  (B) visible goods ":,/"d/ (A)
capital goods ,_,L/pl__}l D) visible and invisible goods r_l;’(j//:’ﬂ'é/ (C)

" The canons of taxation were firstly stated by . -«-,'fu?a'.— """" J L&‘dr‘ '-’:-L/Gr'hgﬂ .15

Keynes 4 (D) * Pigou &% (C) Robbini 74 (B) ~Adam Smith #77 (a) o

|l A 8] A 7 A 6] Cc 5] ¢ 4| A 3] B 2| B j
A -15] C -14| D 13 A -12] A -11] D -10] D 39

| A0 |
00 UhJ T bkt N(Ist A324) el
60 U/t . ,_ WJil) SPOBETRE S SPRERAI € -

..:,‘.Jc.}l.eﬁaUV(S)JC.-JJ(:—U!"»J-‘G.UJUJ;LA? Y
Note: Section I is compulsory. Attempt and THREE (3) questions from Sections IL

(6%2=12) -gggnzﬁ?éawr(s)ée_df ;
Write short answers to any SIX (6) questions. A, Ve
| - fa e P S Ay 0

Write down the definition of Economic as stated by Prof. Marshall.

USRS "stUiHi_,-g_:..:,W,/J,L&JJ“?K&.;_ b QU Pl iR

LAS S el Fe LAS WAL L3 S Pl K e Chieko L
‘LKAg.ﬁL&J&Us;}(.;_ﬂuyadég )J)d/:m'c‘:.'rk (:)J:J).—ﬂ&_k/‘bﬂg}':-i;t'{gy’dl:”

"Economics is a study of Man's actions in the ordinary business of life, It examines that part of

individual and social action which is most closely concerned with the attainment and with the use of

material requisite of well-being. Thus economics is on one side a study of wealth and on the other
and more important side, a part of study of man". '

Define science. ) =5 -EéL‘JV--i’/JJH‘ (ii)
b\l Ll it F O Gl s P2 e bnad K J0 e b o L L6
: - VTS sl e L T e
Science is a collection of facts related to a particular field of the universe, which is compiled after

the most impartial study in the light of research and experience. Also, the constant refationshi?
between the causes and consequences of these facts is also established.

‘éyu’tﬁbﬂcl}b‘&:’d’z (i)
Differentiate hetw_gcn micro economics and macro economics.
‘QLJ/u"gﬂwK&{Jc'"ngu??tl?g)’&’K:JJL/"VHZIU;I/‘U]L & ‘-”J(szu:‘?b’d}z '.|..J‘i'
"“"C':;jqu&:’b’fo‘b,"z;zuugu)'? t”{"JL!”J'L.).Ub'b’a?‘:’fﬁw)@:ﬁl&/bﬁuﬁﬁ.
In micro-economics, the behaviour of individuals components and t::lem‘ents ofaun cconomy is
studied. For example determining the price of a single commodit
observation of the behaviour of a firm, whereas macro-economic
with the relationship of large economics aggregates.

Differentiate between rise and fall of demand. \ ‘éUkJ)g;L):;Iazﬁwu (i)
J-)‘;d:&z/{-g‘;—H?L'{V‘/’KJL,;Ll?ﬂJu'u:JJaL;JJJIJK/&LTJ A;Lﬂ&g/(’ i

> s _+tkkft{KJ, CRI RN S SR o 15 »
If the demand for a commodity increases without any change in il S T dem
: price, it is called rise 1B

-
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: if there is a de i e oo e BT SRR
hereas crease in the demand for a commodity for any other reason without a change

\; ice, it is called a fall in demand.
i)iffcrcntlntcg tween supply and stock. _ ' "‘"{ yu,JJM.,éin’i’/ o
._uz‘;f,z,c_rfr-_dm,zrdgLu:;(&:)tﬂdl:‘ﬁ/lﬁcﬁnfc‘.(fkﬁc:’:—g e

{-,2 bl el
P B N s i T
f SRS 00 Stoged o S8 Ge»l0/"-7«'-[-Jﬁ'f/.“:'c,i?;;:ﬁnww’séoﬂf 5]
| J N SO ¥ J/‘ﬁ'é&d—/

¢ total quamlty of a commodity that is available to sellers in the market at a given time is called
qock whereas supply refers to the portion of inventory that sellers offer for sale at a specified price,
for cxample, if at some point in the market sellers have a total quantity of 500 fons of sugar, it will
e called stock. Now, if he sells 300 tons of sugar out of this total quantity at the price of Rs. 10 per

kg if presented to do, it will be called supply.
What is meant by perishable goods? ?c.:l/y’a.rl;l_/%(z? (vi)

awcg',,;,w,,‘,,_&,.-;ﬁ‘ﬂwa*»,fcﬁgg,-.,z‘sscwﬂu:'vfm,g/‘uﬂ' (A

-
yems that arc perishable or items that cannot be stored e.g milk, fruits, meat etc, are called
rishable goods. 5 1 , )
B {17 (vii)

pescribe the meaning of sgandard price. _
:Jtﬂaﬂbd:wq.dﬁc»{wlfc.ozd/?qfﬁ- T 4

ufi’n‘-‘;’ﬁl:""u'&LU’ZT?ZK(;ULUJ'?LVJ

& - - & >

-ﬁu‘a o’-!JJJJ ’waﬁ&ﬂbﬁﬁ;ﬁjﬁﬂﬁ;(){ﬂy/p(ad 'L):Ojﬂ! ‘.-:JJJLQ.

The standard price of a commodity refers to the price prevailing in equilibrium of supply and
demand in such situations when employers have enough time to adjust the supply of the commodity
in case of increase or-decreasc in demand i.e. the supply is not fixed but it can be: increased or

decreased possibly according to the circumstances. - '
What is meant by utility and usefulness? - § T.c.:l/(_.fz_u' Gaatesb) (viii)
4.ufdp.»’s,y‘;.,ﬁuf;,e-q}¢f2,L{.Jy,.;dgﬂtw.;{.;wfq}&.ﬁ/gfﬁr}duué_f AR
f;{{.)ﬁ:’uGlufui‘jguj/”’c’___ﬁddulgmf’;_‘; ‘u,éu_,yllwgus’mxsgug;wdw‘f[

| e g7 40
The quality of fulfilling human desire in an object is called utility, For example, the quality of

quenching thirst in water. While utility does not mean benefit because there arc many things that arc
not beneficial, For example, alcohol, opium, cigarette efc, they are harmful to human health, but

there is utility in them because it has the ability to fulfill human desire.
- uyri‘b’ub’u}’ (ix)

What is meant by total utility? _ .
bt fe et ‘J"gusmc.i_/db?lugﬂ(mfé. W
s called t9ml utility.

The utility obtained by using all the units of a commodity i
\(3 x2=12) : . _ -_4':':/_ i.&l,lﬁ/yﬁ.:/ﬂfr(é)é;.—gf :gﬂﬁi
o ot apsvers sy X O WLy T e 0
JZ z'_.l::l}ff'f lOﬂ‘/Q?iJJWF&;.-"L t‘ﬂﬁuiﬁufhj/bl’(f)fc—.p(!i.ﬁ&fJK’{fJé_u’( T
s L L un%uZOJJW?-‘? ?th:zé.uzzo/ngd. Lk 11l 2s20050

- - e b i ss20 S b

is called the marginal cost, for

n of a product 1
00 rupees and for making 11 meters of cloth it
0 because one meter morc making cloth adds

The increase in the total cost due to the productio

anmplc the total of making 10 meters of cloth is 2
increases to 20 repees. So the final cost will be Rs. 2

Differentiate between fixed cost (FC) and variable cost (VC).-g{stdMsJJW-/.’."ALJJW,? (ii)

"ﬂ'_;jl/é /L&'d//l,!,_i_'; :".'J/V’Z__-L,ﬁc‘- 4 P IV Jos f(/-_f'uf’,u} Sl e e IR
sl MJ;W/_;’U(J:LI',:I&VL';{(./M&/:lujdl!gazftféé_‘..:cﬂ;l,}_gﬂlu_rz_ 5t

. rcumstances whereas such factors which

Fixed costs refers to the costs that a firm has to bear in a!l ci _
are related to the amount of production and increase with the increase of production and decrease

With the decrease of produclion are called variable costs.
wha.t is meant by total revenue? _ _ . : Tq:-:'/l_f;.d ""L}’ (iii)
Wéﬂ%ﬂr—dﬂ«!’bfﬂ*’?fﬂf-’f’w‘fwu(au’ e

!
e Tr——TCRS T R T R RN
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B, | |

el *(.,‘.__u,- VL-._.mooo Ve Seir e 100. ALl
The amount earned by a firm by selling certain quanm\' of a commodity, is called total revenye, or

example if the price of cloth is Rs. 10 per meter and a firm sells 100 meters of cloth, it will ge Rs.
1000, this amount will be called total revenue.

What is meant by the law of increasing return? fe JI/’U:-:_J'I, f,e-' wie (iv)‘
FICR ST J..fx(‘ r..:E WU i byl gl s L,-__,ujL;YJL J’U':J'*»def_-. e
-C—u—/l‘:' L'D f’f'/“KJ'-bfﬁ*LfJJb/)U;F

When i mcreasmg the units of the variable increases the marginal production at each increment, they
this trend is called law of i increasing return. Another name for this law of diminishing cost.

What down the names of laws of return? , 4?'“:4)“'9:’-" )
FoBuds .3 = L 2 v de elR

1. Lawof increasing return 2. Law of constant return 3. Lawof dlmmnhmg retyrn

Describe four conditions of perfect competition. -4{ kbl Jl'J'L G- (vi)

e Ju»d“fﬁd,uwfa.t'btfﬂf udw-/J,z,,,u:uygfn 2

A market is said to have pcrfect competmon if the following conditions exist.
LSl C_leﬂc_w_),;t,wéﬁ,u s M UsKeds slsia 7 -1
-x.:l:ljlo'/"b:bbb{uf‘/dz -3 e L(u'u,f b’iJLdbL.bJ.:.-‘:/’
: USRS P e Vol § i Kn3s fisis P 4

1. There is a large.number of buyers and sellers and no buyer and no seller can affect the price by
their individual actions.

2. There should be uniformity in the units of goods sold.

3. Entry and exit of firms in the market should be free.

4.

Buyer and seller are fully aware of the conditions of the market

What is meant by monopoly? s /b(a_dﬂ:ubl (vii) -

S /Kamc.,@,uf'u‘dwmﬁ,/ b PSS e dnos) Juyuﬂmu IR
e Pl w,u,wJ WA b2 ot s

A monopoly is a market condition when a good is produced by a single firm and thc-rc are no c!osc

substitutes available for that good else where in the market. For e\amp e in Pakistan WAPDA has
.monopoly in power generation and supply

Write down four assumptions of marginal productivity theory. qﬁd VL‘J/‘.JLLJ'JLL‘(J }‘ (viii)
' e B St 2 Ry J”;;)J‘&u 1o
U e SIS UK e 4 e Pbtae o o LHUEISTE -3
1. The factors are completely transferable.
3. The units of factors are interchangeable.
4. All units of each factor are identical in terms of production efficiency.
Describe the meaning of factors of production. éuhr’?}‘ﬂ.f'#hf% (ix)
U ket s bl Ut e brenAltuid £ A, AP e AT

Factors required by man to produce the things he needs are called factors of production. These ar¢
land, labour, capital and organization.’

(6> 2= 12) -&d..-,y,z',"’fg_,u,, 6) &S ;
Write short answers to any SIX (6) questions. ©) "J m

What is meant by gross domestic product?

_u‘é;l)w(ﬁ’bf_o)l.{jl'it(fufwﬁ-/yJU”*'uL”"V'LffJJLW'IUl,

2. The units of factors is completly elastic.

?LJ/U,LJIJU;&I; 0]
L defpl b5 v

“ L;Ald:/'udlv - J'Jl,vu’jrb = J'J‘—U‘Lﬁ'l"
All goods and services consumed by the people of a country dunng the year within the ¢ ountry their
market value is called gross domestic product, .

Net National Product = Gross National Product —
What is meant by subsidies? -

. ; . | ¢ L—"' (il)
& nie GotS gt fe e Jdi»Juu,q-m,g,Jﬁ.Lﬂem,,wJJ q-J/&"a,

e ./M

» JJ/JJGVGEZ/
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7P ;
(e B furh e ; s e /T st 55y a7
J/,Jg_,‘j : f/u Jc’l‘("fc‘é—uﬁu:u’d_c{lﬁ;'u:;rﬁ/gluﬂ:éfc.uuf:)’)
'- ‘ -q.?éf;ulé.c.aﬁ,l:/:‘// K=d
pmetimes the government wants to provide essential commoditics like flour, ghee, sug'ar etc. to the

ublic at lower price than their market price, So it buys those commodities from the venders at high

prices and sells them to the public through utility stores and co-operate stores provides at cheap

afes. The government pays a part of its original cost which is called subsidy. :
write down four important imports of Pakistan. _Auﬁ,ﬂug‘fu% L (i)
. v
_ Vehicles UL/ -2 Petioleum production = k5] ﬁ}/: S R
Parts of machines ;al!.J{Lui? -4 - Scientific instruments :«U"(f.'/ v -3

pefine quantity theory of money. _{,{...y M]Jh’fgf' (iv)
,ﬁiwﬁwum_q_dno’bL{iauﬁ.,fw,;,ﬁ(»_'_,séJ_/;Ju;é)u:;_’_[&g&;m" (N7

Y P 2 Tl ~J-g"ﬁ§-dm:«-‘&b’é_.w.,/t?utwjd}gﬁumkéc_t'n.ugb’d:,/tﬁtﬂli

A change in the quantity of money (Through a change in prices) results‘ in an inversely proportionai
change in the quantity of money leads to a proportional decrease in the value of money, while every
decrease in the quantity of money leads to a proportional increase in the value of money, other
things being equal. "

What is meant by domestic trade? ' ‘ ?{—)'/V’c—-ra/(ff W)
-w;{a/?ffd:d-ﬁlazlﬁ_ l:i.nd?;:ﬁ:l/'iﬁ—u}wﬁ[.-ﬁ.—g ) 4
Trade between people of different regions of a country is called domestic trade.

Describe the concept of balance of trade. i -é’:uerp b’-wlfrﬂ'; (vi)

-A"'—-tljﬂ’(:rJ(f-L‘JJ.l;’u:aa/ufl)K&_J,LJn:d'ATJ)J/J’!:)_LJQ’JTJ!J/J/JVJJ-«{’ ) 4
The calculation of the value of a country's annual tangible exports and the value of its tangible

imports is called the balance of trade. , . :
Differentiate between private finance and public ﬁnance..:_ég ugu/‘;..-,ytwr/m_-.gtj (vii)

-‘4.t‘:’sa..aLgf})’(}.&l'p(:/ﬁy(:«ytd/(/,g.g.t'll:'(:aglu’:;’lbfb/?l;(_‘au.f.@jjdjf&f)l(j {4
The study of accounting of income and expenditure of individuals is called private finance whereas
the government concern of revenue and expenditure is called public finance. ' . ‘
What is meant by sun spot theory? ?q..Jl/l‘.fc_, }’[.u:,’;qaf (viii)

‘ﬁ"/Jy‘j)‘{d:]""ffﬁd'@”"—-?’JJ'USZ—”J""’.&q&f&rivﬁuﬁ?,angf -’4 7
I S B L e

B P L=
urface of the sun with intervals, due to this the sun

tccording to Prof. Jeons, spots appear on the s
cannot sent its heat towards the earth, which badly effects the crops and the agricultural production

decrease and negative effects on industrial production. This is called sun spot theory. )
What is meant by surplus budget? : ' Yg-:{/(f;;’»?ffﬁ (ix)
: _‘LC‘LL:'(.‘a,‘.J‘G:_*—?f?m:_I:J:_,@ﬁd‘JJ.:/ﬁJl e} 4

n the expenditure, the budget is called surplus budget.

(r;;,-?)

ree answers of the guestions.

If the revenue of the go{/crnmem is more tha
-(_[/E/f.:pglﬁ/:—:aﬂ’mfa.éf
._érl/g/ljjgfub”)c:’}é&? U)L{MJL;J;G' @@

Write any th

8 ‘
Explain the law of suppiy with the help of schedule and diagram. N
8 ' ; -“éc)U;c.Jl/CJ’uleJ-(":JU’JSmu}B' §

aw of diminishing marginal utility with the help of table and gra[h.

Explain the |
| LI ip S bl b ot T

8
Describe fong run equilibrium of a firm under perfect competition.

8 l s S daTS T L

Explain circular flow of nagional income by diagram.
o af 4 - Py
_é}fé}uég"};&d;fd:’ @

8
Mdown two methods of national income determination.
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